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1.7 7|7R- 5 Ed-% protein R4e= B8R e & 53 ? (HE) (34)
(1) Thenumber (#p ) of disulfide bonds
(2) The sequence ( % 71 ) of amino acid in the protein
(3) Interaction ( ¥ J& ) of the protein molecules with solvent
(4) Theorigin (4=/k ) of the protein
2.7 Ffr B AT A HY hB L iEr (A fRIER ) B2 (GFE) (54)
(1) Breaks ( %74] ) covalent bonds
(2) Yields (2 2 ) energy
(3) Requires energy input ( ﬁ%l )
(4) Reduction of NAD+

(5) Makes covalent bonds
(6) Oxidation of NADH

3. J'JW-%Z AT GHP e it TEd (£ =0% ) 1?7 (AFE) ?2 (54)
(1) Breaks ( %74] ) covalent bonds
(2) Yields (2 2 ) energy
(3) Requires energy input (ﬁi%l )
(4) Reduction of NAD+

(5) Makes covaent bonds
(6) Oxidation of NADH

1og AP g d (S vop € ff i fopi(Lacticacid o 51 ik ek F ek 4o ™ ¢

CH,CHCOOH + OH CH,CHCOO- + H,0
3 —>
H OH

bR HE eidek R % pH 7.86 SR i AR 0 R R ME U A
[A' )/ [HA]+ #i& 2 #rechpKa 5 3.86.
B T gt Bz [A]/[HA] st b E. (14 4 )

2.20 £ 0 SSC ¥ Wz .4 3M NaCl 2 300 mM sodium citrate #7 & = . NaCl » + &
% 58.44 12 2 sodium citrate »* + £ 5 294.10> 4% in & @] & 100ml =220 & = SSC
¥R RE Lo w4 %0 50 (gram) e NaCl 2 2 % -5 5. (gram) 0 sodium citrate
Bt 100ml 34z ? (13 4 )

w3 100 ml JEA& Z 6 mog/ml )k 39 BiaR o Aok inE R 10 ml LR R G
1.5mg/ml eh3d-9 B AR > nF &R I B RE 5 0 8A (ml)4e » 10ml ok
A7 (10 4 )

ja)

45+ 3-v (myoglobin) £ s = v (hemoglobin) & & 4tiF » # 1 chkv > » &

SRR K30 3 SR S

(1) myoglobin £ hemoglobin 41 &4 @i d hif s ? (64)

(2) CO & 2, 3-bisphosphoglycerate (BPG) 4 i 82 %% hemoglobin ¥ O, ch' & ?
(64 )

(3) 73} Bohr effect? (6 4 )

(4 #k7 Awre ¥ n (sickle-cell anemia) hx = 3% (hemoglobinS) £ 4 2 %
F=d B (Prion) crjp 124 R 2 i @ 2 (6 4)

5.5 & ¥ * (photosynthesis) & 2 ¥ % & kiR ¢
(1) % # it photosynthesis @ sk & J(light reaction )2 & e i+ 1% * (.carbon-assimilation

reaction) 2. 4 i* £ Jis - (64 )
(2) #+ #2 0,2 H,O & photosynthesis & > s g vt w5 it % (respiration) ¥ 14 ¢ o
(64 )
6. ¥ F- ’FL‘ Ui F E-6-mifL (G-6-P) A & §_ N BHE B ks (pyruvate) 2 £_G-6-P

B
& I pipERRFL2 S (pentose phosphate pathway ) ¥ i 2 4 € & chA 5 > 3R !
(1) G-6-P % pentose phosphate pathway ¥ i 2 4 sng = 5 @ ? (44 )

(2 ¢AY2Z A AP 500 7 (10 %)



